THE GAUHATI HIGH COURT AT GUWAHATI
(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)
Main Written Examination for direct recruitment to Grade-III of Assam Judicial Service
Date: 28-11-2015(Saturday), Time: 1.00 pm to 4.00 pm
Total Marks: 100, Duration: 3 Hours

PAPER - 11
Part A
Write essays on any two of the following topics: Marks 2 x 20 = 40

(@) Independence of the Judiciary.

(b)  Media trial and right of accused.

(c)  Bigdams are a necessity for development and progress.
(d)  Terrorism and human rights.

(e) -~ Child rights.

Part B

Answer the following from the options given: Marks 1x25 = 25

(i) Shri Raghubar Das is the Chief Minister of which State:

(@) Jharkhand (b) Chattisgarh
(c) Haryana (d) Uttarakhand
(if)  Aeroflot is the airline of which country:
(a) Belgium (b) Norway
(b) North Korea (d) Russia
(iify Jwala Guttaisa: _
(a) Shooter (b) Badminton player
(c) Weightlifter (d) Tennis player
(tv)  With which game will you associate “ Ashes”:
(a) Soccer (b) Hockey
(c) Cricket (d) Badminton
(v)  The Sarkaria Commissioﬁ was appointed to review the question of:
(a) Centre - State relations (b) Legislative reforms
(c) Problems of tribals (d) River water sharing

(vi)  Who is the global brand ambassador of Tata Motors :
(a) Ratan Tata {b) Sachin Tendulkar
(c) Shahrukh Khan {d) Lionel Messi

{(vii) Francois Hollande is the President of :
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(viii)

(ix)

)

(i)

(xii)

(xiii)

{xvii)

(a) Italy (b) France

(c) Belgium (d) Netherlands
Sabarimala temple is situated in the State of :

(a) Tamil Nadu (b) Kerala

(c) Gujarat (d) Karnataka
Mark Zuckerberg is the Chief Executive Officer of:

(a) Yahoo Inc. (b) Facebook

(c) Twitter (d) Instagram

Vice-Chairman of NITI Aayog is :

(a) Sam Pitroda ' (b) Raghuram Rajan
(¢) Arvind Panagariya (d) None of the above
Capital of India was shifted from Calcutta to Delhi in the year :
(a) 1901 (b) 1911

(c) 1921 (d) 1922

Which of the following Judges of the Supreme Court of India is famously known
as the “Green Judge”?

(a) Justice V.R. Krishna Iyer (b) Justice P.N. Bhagwati
(c) Justice Kuldip Singh (d) Justice B.N. Kirpal
Chairperson of the Seventh Central Pay Commission is :

(a) Justice B.N. Srikrishna (b) Justice D.K. Jain

(c) Justice A.P. Shah (d) Justice A K. Mathur
Who amongst the following great personalities is known as Ru pkonwar ?
(a) Nabin Chandra Bordoloi (b) Jyoti Prasad Agarwala
(c) Bishnu Rabha (d) Bhupen Hazarika
Which one of the following gases is lighter than air ?

(a) Carbon dioxide (b) Chlorine

(c) Oxygen (d) Hydrogen

Inthe first Assamese feature film Joymati, the actress who played lead role of
Joymati was :

(a) Aideu Handique (b) Vidya Rao
(c) Gyanada Kakati (d) None of the above

Which one of the following is the highest peacetime gallantry award of [ndia ?
(a) Param Vir Chakra (b) Ashok Chakra
() Maha Vir Chakra (d) Kirti Chakra
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(xviii) Who bagged the best actress award at the 62nd National Film Awards ?

(a) Priyanka Chopra : (b) Vidya Balan
(c) Kangana Ranaut (d) Rani Mukherji
xix) Which is the only regenerative organ in human body ?
y reg g y
(a) Brain (b) Liver
(c) Pancreas (d) Lungs
(xx) The proposed name of the capital of the new State of Andhra Pradesh is:
(a) Amaravathi (b) Hyderabad
(c) Rajahmundry (d) None of the above
(xxi) Kamalabari Satra is situated at :
(a) Nagaon (b) Cooch Bihar
(c) Barpeta (d) Majuli
(xxii) A Snickometer is associated with which sport ?
(a) Tennis (b) Cricket
(c) Hockey (d) Football
(xxiii) The first modern Assamese novel “Miri Jiori” was authored by :
(a) Rajani Kanta Bordoloi (b) Raghunath Choudhury
(c) Padma Nath Gohain Baruah (d) None of the above
(xxiv) The Headquarters of UNESCO is at :
(a) Rome (b) Geneva
(c) Paris (d) New York
(xxv) In which one of the following States Sariska Tiger Reserve is located ?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Gujarat (d) Rajasthan
3. State whether true or false ? _ Marks1x5=5

(a) TERI stands for The Energy and Resources Institute.
(b) Medha Patkar was the leader of the “Chipko Movement”
(c) Mukul Rohatgi is the Attorney General of India

{(d) Chakradhwaj Singha was the Ahom King when Lachit Barpukhan defeated the
Mughals in the battle of Saraighat.

(e) The apex bank for rural credit is NABARD
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(ii)

SJ‘!

Part C

Read the following passage carefully and answer the questions given below :
Marks2x3=6

Sunita, Rahul and Suraj are children of Mrs. and Mr. Barua. Rani, Rohan and Shyam are
children of Mrs. and Mr. Saikia. Shyam and Sunita are married and Arjun and Sohan
are their children. Gunjan and Romesh are children of Mrs. and Mr. Kalita. Gunjan is
married to Suraj and has three children named Rupali, Sonu and Ravi.

How is Rahul related to Arjun ?
(a) Brother-in-law (b) Cousin
(c) Uncle (d) Maternal uncle.

Rani is Sohan’s
(a) Niece (b) Sister
(c) Aunt : (d) Sister-in-law

Shyam and Suraj are related as
(a) Brother-in-law (b) Cousin

(c) Brother (d) Nephew

Read the following information carefully and answer the questions given below:
Marks2x3 =6

Five Friends Satish, Rajesh, Rehman, Rakesh and Vineet, - each presents one paper to
their class on Physics, Zoology, Botany, English, or Geology -~ one day a week, Monday
through Friday.

Vineet does not present English and does not give his presentation on Tuesday

Kajesh makes the Geology presentation, and does not do it on Monday or Friday.

=1
i1

we Physics vresentation is made on Thursday.
Rehman miakes his presentation, which is not on English, on Wednesday.

Fhe Botany presentation is on Friday and not by Rakesh.

“utishiakes his presentation on Monday.




(i)

(iii)

(1)

)

What presentation does Vineet do ?

(a) English (b) Geology
(c) Physics (d) Botany
What day does Rakesh makes his presentation ?

(a) Monday (b) Tuesday
(c) Wednesday (d) Thursday

Read the information given below to answer the questions. Marks2x2=4

Diana is three times older than Jackson; Edward is half the age of Stephen. Jackson is
older than Edward.

Which one of the following can be inferred ?

(a) Jackson is older than Stephen (b) Diana is older than Stephen
(c) Diana may be younger than Stephen (d) None of the above.

Which one of the following information will be sufficient to estimate Diana’s age?

(a) Edward is 10 year old

(b) Both Jackson and Stephen are older than Edward by the same number of years
(c) Both A and B above

(d) None of the above.

Answer the following : Marks 2 x5 =10

A father is now three times as old as his son. Five years back, he was four times as old
as his son. The age of the son is: '
(a) 12 (b)
()18 - (

The front door of Kiran's house is towards the south. From the backside of her house
she walks 50 meters straight then turns towards the left and walks 100 metres and after

that turns right and stops after walking 100 metres. Now Kiran is facing which direction
?

(a) East (b) South
(c) West (d) North

In a class of 20 students, Alisha’s rank is 15% from the top. Manav is 4 ranks above
Alisha. What is Manav’s rank from the bottom ?

(a) 10th (b) 11t

(c) 9th Dth

{c)9 (d) 12

Ii day before vesterday was Tuesday, the day after tomorrow will be ?
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(a) Monday (b) Wednesday

(c) Friday (d) Saturday
\ If Monday falls on 1st of Octcber, which day will fall three days after the 20t in that
y y y
Month ?
(a) Monday (b) Tuesday
(c) Saturday ' (d) Wednesday
8. Answer the following : Marks1x4 =4
(i) Marathon is to race as hibernation is to :
(a) Winter (b) Bear
(c) Dream (d) Sleep
@) 1:1:225:?
(a) 26 (b) 125
(c) 240 (d) 625
(i) 6,11, 21, 36, 56, ?
(a) 66 (b) 76
(c) 81 (d) 86
(iv)  Treeis to leaf as Book is to :
(a) Fiction (b) Pages
(c) Pictures (d) Learning
XXX
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